QUESTION BANK
SOCIOLOGY
UNIT-XI

Change and Development in Rural Society

HeT7—pIVT (Assertion-Reason) (01 Mark)

Answer Options (38X fa&eq( (for all questions)

(A) Both A and R are true, and R is the correct explanation of A.
A 3R G TET 8, 3R, A ST GE STTEAT B |

(B) Both A and R are true, but R is not the correct explanation of A.
A 3R GIAT TET €, afehet R, A T 6T carear AT g

(C) Ais true, but R is false.
ATET &, olfehel R AT 1

(D) A is false, but R is true.
ATTAd &, oifheT R @RI 81

QUESTIONS-
1. Assertion (A): The agrarian structure in rural India is deeply influenced by caste hierarchy.

FR FTEa FrAtor AR F Tfa gEEEA F TS F wenfaa @ B

Reason (R): Land ownership patterns in India have historically been determined by caste-
based divisions.

A Farfca & deat Maerfds w0 & anfar e et g@rr Auia fFo e
gl

2. Assertion (A): Land reforms aimed at redistributing land to landless farmers have had limited
success.

qA GURT &7 35T qfAd frumel &t ofr RaRa s a1, afva a5 difaa
T UIed FT THI

Reason (R): Bureaucratic inefficiencies and resistance from landowning classes hindered
effective implementation.

werafas semEarst 3R -l aat & wfade & gerrdt fraeager F arur sl
3. Assertion (A): The Green Revolution led to an increase in agricultural productivity in India.
e #fda ¥ sxa #& FN so@dar & gER @l
Reason (R): Introduction of high-yield variety (HYV) seeds, irrigation, and fertilizers
revolutionized farming.
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3eq 394 aret fReAt (Hyv) & e, s sk sdat f qeoma F R A
Fifaer alade fFam

4. Assertion (A): The Green Revolution contributed to regional inequalities in India.
eRa #ifd o ¥Rd # &NT WA FT Torar f&=m

Reason (R): Its benefits were largely concentrated in states with better irrigation and
infrastructure.

FUF N HET T ¥ 3 Todl & Hfea W@ seT dgax RAwrd 3k gfaardr g
IqeY 7|

5. Assertion (A): Rural society has undergone a transformation due to mechanization and
commercialization of agriculture.

arfior water # FR & Feor A saariEor § FRor aRade 3mar g

Reason (R): Traditional labor-intensive farming practices have been replaced by technology-
driven methods.

TRARE HA-gue FR geufaal #r see awds smuRa @ty & a & 2
6. Assertion (A): Circulation of labor has increased due to seasonal migration from rural to urban
areas.

A T yarg arEor T At AT A #AlgAY ya F FROT T97 ¢

Reason (R): Economic distress and lack of employment opportunities in villages push workers
to cities.

fdF dwe 3R Mal #F R & JqaA A FAT AAST F AT Hr 3T gFerch
gl
7. Assertion (A): Globalization has impacted rural livelihoods in India.

dedlHIor F R H arAIvT ITfaeT Y wanfaa AT g

Reason (R): Increased market integration and corporate farming have altered traditional
agricultural practices.

qER & gd THEOT R FARe et & IRIRE F gt F g 7w
8. Assertion (A): Liberalization policies have led to agrarian distress in some regions.

eI Afaat @ Fo A9t F FN GwHe w1 Few R

Reason (R): Reduced state support and increased dependence on global markets have made

farming less stable.

T xS & FA 3 AReF Tomt W aecdt Aoar & R w1 3w aom REm
9. Assertion (A): The commercialization of agriculture has changed rural class structures.

W & cargariietor & ar @t EEer FY gg R

Reason (R): Small farmers struggle to compete, while large landowners and agribusinesses
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dominate the market.
B frarer gfaerat F & da¥ Fd § Jefd 93 w3k FR syaw
9K W g & 9 B

10. Assertion (A): Rural-to-urban migration affects the demographic structure of villages.
TIFT F el YA IEt Y AAEEAT FIGAT F GHIRAT FI@T B

Reason (R): Young male workers often leave, leading to feminization of agriculture in rural
areas.

a1 Y HAF FFET T A 8, forad amior &=t F FR F1 FHaor g B

gglddbedid 797 (Multiple-choice Questions) (01 Mark)

1.  Which social group benefited the most from the Green Revolution in India?

AR # &RA Hid & a8 & oAlicad HANSR FHg il AT?
a) Landless Laborers / 33@'&"3?-[ Halql

b) Large Farmers / 93 fhameT

¢) Small Farmers / oic fhareT

d) Artisans / FRIIR

2. How did land reforms impact caste-based agrarian structure in rural India?
A GURT o ATA0T HRAT A S 3menRd S G i H@ genfad fhar
a) Strengthened it / 9 Halgd fopar
b) Weakened it / 38 FHHSIR fohar
¢) No impact / IS THTT gl
d) Shifted to urban economy / &I Fegawrar H gRadT §3-1T

3.  Which major social issue emerged due to the Green Revolution?
gRA HIfd & FROT FlsT AT YW FHISR @l Scdost 32
a) Increase in unemployment / ISR H Elc?.\’\@
b) Widening economic disparity / 3TT¥eh AT 7 o™
¢) Reduction in caste discrimination / ST HeHTa H FHaAT
d) Decline in landholdings / {fA FaTfAca # TRmEe
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4. What is the primary effect of globalization on rural labor migration?

3AHIOT T FTAOT HfAS Jar g W T JeITd T 22
a) Increased seasonal migration / FGHT Jard & aiﬁT

b) Decline in migration / 9d1d # fRmae
¢) Shift to traditional occupations / IRURS TGTAT FI 3R Fgod
d) No impact / PIS TG g1

5.  Which economic reform contributed to the transformation of rural society post-1991?

1991 & §Tc; AT FATS & IRadl # o i guR F1 erereT @12
a) Green Revolution / R il

b) Land Reforms / ﬂ‘ﬁ Jur

¢) Liberalization / 3&T{/ehT0T

d) Zamindari System / STHIGRT YOIl

6. What was the unintended social impact of the Green Revolution?

gRA Shifd @l eTafeld qrArfore weima ar ar?

a) Women empowerment / FTgell TerfFdenor

b) Displacement of small farmers / B¢ fham=l o1 faTardeT

¢) Urbanization decrease / e UT H IRTae

d) Strengthening of joint families / g TRART I FATFIRIT

7. What role did caste play in the circulation of labor in rural India?
AT R A AR IRTROT F Sl i Far fAFT W2
a) Restricted mobility / ITfaefrerar & difaa frar
b) Encouraged migration / 9ar &I grar fgar
¢) No role / 15 33@75[ oTer
d) Promoted equal opportunities / §HTT 3aERT &l dorar f¢ar

8. How did liberalization affect traditional rural occupations?

3ERIERUT & YRURE ATHOT SFaarar Hf H9 garfad fmar?

a) Revived them / 30¢ GeTsiiiad fehar

b) Declined their relevance / 3eehT YTHTIhcT EIE'I?

¢) No change / HIS FGelld sIel

d) Strengthened rural economy / ITHIUT 3T AT &I A fohar
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9. What was a major reason for the failure of land reforms in some regions?
T &1 A oA FURT H fAwerdT FT J7T FROT F4T AT?

a) Lack of political will / TSTlcieh STHOIRATFT I HAT

b) Success of Green Revolution / R HIfa P holdr

¢) Urbanization / 2Tg{I&0T
d) Industrialization / ﬁ@?ﬂw

10. How did globalization contribute to rural transformation?

dedieRoT & AT IREdST H FE IRIE e
a) Increased rural employment / FTHIOT ISR H El?\'ﬁT
b) Reduced dependency on agriculture / E‘I_:"I:Ef X fRar &7 $ir

¢) Strengthened feudal structure / HTHAT TITAT I Halqd foraT
d) Promoted self-sufficient villages / 3TTcHTASR IMTal I derar fear

f713aa BVl 97 (One word/definite answer questions) (01 Mark)

1. What is the traditional caste-based land ownership system in rural India called?
T ST TRARE Sf-ITTRE SR EfHed omh Y F e §
2. Which revolution significantly increased agricultural productivity in India?
AR # F ScIEHAT FI Seora-lg ®U A FGrdT < arelt Fifer Hlar d o
3. What term describes the temporary migration of rural workers for employment?
VR & AT grefior @S & 3Tl garaa F FA7 HgT SA1am 82
4.  Which land reform aimed at redistributing land to the landless?
q§ I A1 A GUR o1 e 3aeT qAEET A 0 Rafka Fwem an
5. What is the primary economic activity in rural India?
arHior sRa # AEw wfiE afafdfer w=w
6.  Which policy opened India's economy to global markets?
i @ AfT 3 sRAT srdegaryr F ARGF TERT F v @en
7.  What was the main social impact of the Green Revolution on rural society?
gR Hifd T AT FATST 9 AET WHATISS T F4T AT

8. What system of labor involves workers moving between rural and urban areas?

Fier dY A9 yorelr AfAHT A arAer 3 wEd A F fiT IS 9w AeEy w1 @
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9.  Which class benefited the most from the Green Revolution?
R #ifad ¥ 9@ 3WF arnfead @ araT a9t i @ aw

10. What is the process of integrating rural economies with global markets called?

T IrdcaTynst #1 ARTF JERT T A H ATHAT FT FAT FgT AT 82

3Id &g Scivlg Fo7 Very Short answer questions) (02 Marks)

1. How has caste historically influenced agrarian structure in rural India?
AAIOT R & HY FIIAT I AT T § S o HG garmiad foham g2
2. What role did land reforms play in changing the rural class structure?
A GURT & AT ol FITTAT T deoled H AT AT FoS?
3. Why did the Green Revolution lead to regional disparities in India?
ERT FIfd o AR H 8T FHATA3N I FAT STed AT?
4. How did the Green Revolution impact small and marginal farmers socially?
gRa Fifad & o1 3R dAig fFaet : Trafes &0 & F genfad fFam
5. Explain how rural society in India has transformed due to economic liberalization.
3T IERIHIUT & HROT HRA H ATHAVT FATS HA TRt §I ¥, TALT
6. What is meant by the ‘circulation of labour’ in rural areas, and why is it significant?
arAIoT & A HH T IRE=ROT 7 FA7 HY g, 3N Ig FA Agcaqur g7
7. How has globalization affected traditional occupations in rural India?
dedieRoT & FTHOT HRT H IRURE Faaral &l hd JHITad fham g7
8. Why did land reforms succeed in some regions of India but fail in others?
W%@ﬁﬁﬂﬁwwﬁgﬁ,dq% 37T H 3% &2
9. Discuss how commercialization of agriculture has impacted rural livelihoods.
Y & SATAHRIRIT & ATAIOT TSITdehl I HE FaTiad fohar g, =ar |

10. What are the social consequences of migration from rural to urban areas in India?

AT & 1T @ Ay I F yaraT & rHGIe G FAT 82

&E ST g (Long answer questions) (05Marks)

1. How do caste and class intersect in rural India to shape the agrarian structure? Explain with
examples.
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aifar 3R aet ameior s # FR wEer N Fw gER ganfda w82 e wia
qASARCI

2. Critically analyze the impact of land reforms in post-independence India. How have they
contributed to the transformation of rural society?

TaAAT & 9IE ARG H HF GURT F WG FT elaeeAS feavor #¥) e
arftor gATer & aRader # F{ Avreer R ¥

3. The Green Revolution increased agricultural productivity but also widened social inequalities.
Discuss.

R Ffd ¥ FW scuEERaT F Jor, AT WY § FASF IrFAEAET F o
Jor T =T HII

4. Explain how the commercialization of agriculture has led to significant transformations in rural
society.

F & sarErisor o T gATSr # Ageaqer IRads F4 e 2 e w )
5. How has seasonal and migrant labor shaped rural livelihoods in contemporary India?

AT ARd & AlgAY 30T yarft o7 o arior srehfRsr &1 @ 3rer far §2

6. Globalization has influenced the agrarian economy in both positive and negative ways. Justify
with relevant examples.

dedfior o FN rdeaaE F wERIeAS HR dAFERICAS T alwt @ wnfaa e
¢l 3UgFA QA0 Aied TS F

7. How has mechanization in agriculture influenced the class structure in rural India?
F & Ffiehiator & amior aRa & Fet w@vEer @ FQ wenfaa fhar @2

8. The Green Revolution altered the labor patterns in rural areas. Evaluate its impact on agricultural
laborers.

eRa Fifa F afior &t F a7 St @t Tea feam R e W s wmE #
HediFal 1

9. Assess the role of government policies in addressing rural poverty and unemployment in the era
of liberalization.

3RO & a1 A AT e IR RS F P FA A WE AfaAt wr
HFAFT T THeT F

10. How have agrarian crises and indebtedness contributed to the rising cases of farmer suicides
in India? Suggest measures to address this issue.

F Fwe 3R HoEFdaT A 6Ra # fFaEl i AeAger F A F FH TorT 82
3 WHENT & wAME & fav gea &

7|Page



Case Study Based Questions

Case Study 1:
Agrarian Structure and Social Change HEal f T A gEee aiade

In a small village in Punjab, the Green Revolution transformed agricultural practices. High-yield
variety seeds, chemical fertilizers, and irrigation facilities increased productivity. However, only
large landowners could afford these advancements, while small farmers struggled with rising debts.
This led to social inequalities and migration of landless laborers to cities in search of work.

USlT & Teh BIC ¥ g # gRA Hifd o $W geufdal # sqara fhar| 3= 390 drel
drer, Tarafae 36t 3R RS glawnsd 3 cueshdr e8| gTdliish, had 99 SHEGR &
ST GURT T TEaT X Teh, Sidich BIC ThdeT dd Hol & I3 W[l SEY HHANSIH
AT FET AR AT FTer T eRT HiT 3R T g3
Questions/9?0T:
1. How did the Green Revolution contribute to social inequality in rural India?
Waﬁﬁﬁaﬁwmﬁmﬁamaﬁﬁmmﬁamawﬁ
2. Explain the impact of the Green Revolution on landless laborers.
AR Folgll W R il T FIT FH IST? (1 mark/3%)
3. Describe the role of caste and class in agrarian structure.
AT FIAT H ST AR 9T T a1 {{AdT 82 (1 mark/3e)

4. Discuss how the transformation in rural society led to migration and circulation of labor.

Hﬂﬂwmfrg(quﬁlq‘i J Tl 3R 49 9a1g H »a grfad ham 2
marks/37)

Case Study 2:
Globalization and Rural Society dedevor 3ilv armior w@amer

In the 1990s, a village in Tamil Nadu saw significant changes due to globalization and
liberalization. Farmers started growing cash crops for export rather than traditional food crops. This
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shift created dependency on market fluctuations, leading to economic instability for small-scale
farmers. Some villagers benefited from new opportunities, while others faced hardships.

1990 & &b #, AfACETg & Th dlg H AT IR 3GRIGROT & FHROT Hgedqul
gRade gUl fhar o IRIRS Teg Bael & Fod fFdid & v d6d o 39
YE HI| 3 deold & HROT SR A IEWRAT W AR a8, Fad ol et &
faw 3 IRERET 39w g1 TS FAOT F AT AW e, FEfR 3T @
HISATSAT FT ATHAT AT IST|

Questions/9?0T:
1. How did globalization affect traditional agricultural practices?
IRATRTOT A GRUR S geufdal & &a genfad ar (1 mark/37#)

2. What are the challenges faced by small farmers due to liberalization?

31T & HRUT BIC fharet 1 foet Al o1 amaeT e g
(1 mark/37e)

3. How does commercialization of agriculture impact rural livelihoods?
Y & TGHRRIOT T ATHOT Sfael G &1 GG ISl 82 (1 mark/3#)

4. Analyze the long-term effects of globalization on rural society.

JTAOT FATST GT JAGROT & Sreiehlfoleh FHTAT T fARANUT | (2 marks/3HF)
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